BRINDHAVAN HR.SEC.SCHOOL, SUKKIRANPATTI
PUBLIC MODEL FULL TEST

SUBJECT: fzf;F Mark: 100

Std: 10 Time: 3 hrs
Part - A

Choose the correct Answer:- 14x1=14

1.A= {a,b,p},B = {2,3},C = {p,q,r1,s} éTévﬂél),n[(A UC) X B] 6om&/ ()38 (<) 20 @) 12 (rF) 16

2.R= {(x,x?%) |x pe01&! 13-23 L& &6MMEUTET LIGIT 6T6e00TSH 6T} 6T60TM 2 meledr efd & & LnmeoTs)
(2 {2,3,5,7} (=) {2,3,5,7,11} (@) {4,9,2549,121} (/) {1,4,9,25,49,121}

3.1729-83 UGS SMIENLLEGSHHILD CUTS|, SihGLI LIS 6165015 6M60T (56 G SHeril6in Fa(hH6L (1) 1 () 2 (@) 3 (FT) 4
4.62( FaL_(h% QML Jeuflenguiled 8 -eug| 2 MILIL] 39 LDOHMILD 12 -6uG| & MILIL| 57 6T6116D, SIF6TT (LPSH6L 2 MILIL]
()5 (6 (@4 (M3

5.x% — 2x - 24 IDMOMIDx2 — kx - 6 -UfN6dT 1S. Gimel. (x — 6) eTevfley, k-ufedr DHIL ()3 (S5 (@)6 (F)8

2 2 2 2
6. ax? + bx + ¢ = 0 ELOGHTLITL g6 CLPEORISET QDL LDHMILD FL0LD erexfled, c=  (A) i’—a (B)Z—a (©) -~ D) - 2

7.AABC -U6V DE || BC. AB = 3.6 Q& 1B, AC = 2.4 Q& L5 dHMILD AD = 2.1 Q&8 61637160, AE -uT6dT HeoriLd
&) 1.4Q8 15 (&) 1.8Q8 18 @) 1.2Q8 18 (T)1.05 Q& LS

8.6 L LommILDd 11 LB 2 wigpsimen @b SHLOLMKISET FL0G6TSH Henuiled Q&mIGS SIS 2 6iTernesr. UMM Silq.5 @55 S
QenLCwiu]siten Q& meneve] 12 L 6161160 SHeumHMIE 2 &85 @55E QemnL Gl 2_6TaT QG Tsneve6) 6T6bT6ar?

(91) 13 L5 () 1418 (@) 1518 (FF) 12.8 LS
9.X S&F 556G Qenewonlmen CHTSCHT(H&ene FMeSCHTEOD (1) 0° (=) 60° (@) 45° (F) 90°
10. (0,0) LDOMMILD (-8,8) 6T63TM LN &Hemen Qenenid@GLd CHMTLIaM@&GEF €& hiEGSH S T6or GHITL g 63T FMUIE]
1
) -1 (@)1 (@3 (Fr) —8
11. (b CHTL TS 60T 2 WTSH ML 56T B1Lpedler HeTsHM & 2 6Tem AN V3 : 1, elevfley G lemenas
STEOVILN MM &G ITEI0T D 6MAUTETSI (1) 45°  (24) 30° (@) 90° (FF) 60°
12. @ (B S lDLN60T IQ LUIL|M b TLD (LD MBS 6D 2 WITLD @) DL BISTHE LD IDMMIEOTTE)  &H60T S 6IT6) 6T8 S 60 60T
IDL_MIGTE IDMMID? (1) 6 LDLMBIG (@) 18 DLMIE (@) 12 DL (FF) L mLSlevemev

13. @@ CEiRI L& &bl mith Chieul L o hemamullssr oy 2 wippLd (PpemmGi &Lt 2 henearuilssr &6 9j6me)
120 &. Q& .18 sterflev, gntdliletr seor gyemey () 1200 &. Q&5 () 360 &. Q8.8 (@) 40 8 Q8 (7 90 &.
Qg..5

14. Q&MTH&HLILL L emeusertley 6181 SaUmMeTal? () P(A)> 1 () 0SPA)<I (@) P(@)=0 (/7) P(A)+P(A)=1
Part - B 10x2=20
i) Answer any 10 Questions. ii) Question No 28 is Compulsory.

15. B XA = {(—2,3),(—2,4),(0,3),(0,4)(3,3), (3,4)} erevr1sl A 102015 B -8 &HTev0755 .

16. R 6T63TM €2(h 2-M&Y{(x,y) /¥ = x + 3,x € {0,1,2,3,4,5}}. 616018 QEHT(HSSLILL (H6iTeng). Qg 6or LHLILG SN G W|LD
& 8855m& LD et Ns

17. 210 LOHMILD 55 ghHuwieummledt BLIAL (5 QUTE| UGSHSHeMW 55x — 325, 6T60TM 61q.6)716L 6T(LHH6TMTED x —UT6dT
LOSIILS SIT6O01S.

18.62(15 Q&ML JeuflenauNe QUTE 2 MILIL 1N6sTeUH MM UMTUIMISSILGE MG

_ {n(n +3);n€eN isodd

n’+1;neN iseven

x%+6x+8 U9l 6S\m i e e b s . 3
el BHS THS SO CHEMmEMWES SiflSSTe) ———

20.x% — 13x + keT6d1m FLOGTUNL 1q.63T eLHEORIBEM6HT eNGHWITELD 17 6166060, k -UN63T OIS SHT6w018

21. AABC ~ ADEF -60 AABC -UNetT UPLIY 9 Q&.L8?%  ADEF -ufledst ULy 16 Q&F 182 inmouih BC =2.1 Q&.18 6T6vMl60, EF -uNett
Ferb  &mess.

22. (2, 3), (4, a) LDOMILD (6, -3) eT6dTM L6MTEM&ET €2(h CHML 160 SMLDHGME 6163160, ‘@ —UT6dT LDSILIMLIS SHT6T0IS.

11 1G] 2 MIUIL] IDMHMILD 78 -QUG & MILILE SHT6T01s.

n

19.

6T6dTM BG&HMemeU Hem L& G LD.

23.(—6,1) LDOMILD(-3,2)6T6tTm Lj6TTeN&Bemen Qemeuuis@Ld ChHi&HGCEHTL g 65T & MUIEH6USSHITEH01S.

24. 0IUNEON([BH&I 62 UL LD 75 L5 2 155 l6d UMSHME). (6 HT6L Q&M6(H SMHETEOSHLONSS &§emuledr 6 (b
YemerluNed LI L Lb &L L LU (RelTeng). [Ted HenuL 6T JHLGSGID FMiie s CaHmewid 60° 6T6afl6d, HTedl6dr HerrLd
SIT6W15%. (HITEN6V 62 (1h CHTSHCHMTLITE 61(HHHSHEBMeNTaTELD).

25. 2(H H6O0TLD 60 [T CHITATES H) 60T 1. LILITLIL| 1386 &. LS 6T60T16V, SI&H60T QLOMGHS LI LImLILITLIEnLE — SHT600Ts.



26. 2 (15 CIhIJ 6UL_L& FaLDLTEIT &61T Si6116) 11088 &. Q& .S gy G LD. FaldLN6DT 2 WIFLD 24 Q1&.L5 61607160, 915601 4, 7LD
SM63015
27. ([ QBLLITEOOTIQ 6V (leap year) 53 Feufl&GHIDMINGET Bt LILIGMETET Bl&HLDSHSH6) 6TeoTeor 2
28. &M6Y C&HMEuuILD 45° OMMILD y-GleuL (h& Gl6vur(H g S HWIMEnME Q&6 ChHiTSCEHTL1q.60T FLOCITLITL ML &
SIT6H015
Part -C
Answer any 10 Questions. Question no 42 is compulsory. 10x5=50
29.4 = {135}, B = {2,3} 6160116V (i) AXB LDMMLD BXA §3 HT6VI& . (i) AXB =B x A BGLN? @eLenevClilenied
676017 (iii) n(A x B) = n(B x A) = n(4) X n(B)61601& &ML_(H5.
30. QETESSLILLL 2 MeYS6T 626UC6UTsTENMUILD (1) SDUSGM LILLD (2) 6UenULLD  (3) UL g UI6D
Wempulled  GMN&ES. {(x,y)lx = 2y,x €{23,45},y € {1,23,4}}
31. @ Fal H5 QsTLFafleansulle oiamnbs SBHS5SHES eneTm 2 MILIL&6rler Fahigev 6 LnMMID
UMl QLIHESMLIGVET —120 6Tevl6V, HS LTI 2 MILIL|5HEM6TE & TEuoT5.
32.24,15,36 o,&W 6T65u1s6nme0 LESUNGTN 6u@UGLD OSLIAL i 94, N6VES cT6TTTEN6TTES ST6Tu1S.
33.9x% + 12x3 + 28x% + ax + b a8 @ NWEIFSHSLD 61616V, a, b LBWeumMIeT WS LILSHen6Ts:
& TEO0T .
34. @ CUIBHS! 90515 QFTemeveneud Fme CoalsEH v HLER MG, H6T Causd 15 &.LS/ Lnevof]
3P &flHaLILL LTV, Liwletor GBI 30 BILSLBIS6T GenmH Ml eTevflev, CLIIHHE 6T Cous 5 ems &
&600T5 5 () 5.
35. g LILenL R HFEFW CHMMID 61D mlemLisGs
36.(-4,-2),(-3,-5),(3,-2) wpmib (2, 3) G W L6Terf&Hem6r (LN6m 60T 6 MT&H S 6\ & TeuoT L
BIMH&ISH 60T LITLI6mLIS &T600Td
37.A(3, —4),B(9, —4),C(5, =7 )WMMID D(7, =7 ) Q&L L|6TTerl&6T ABCD 6T63TMD &FIfl6U&E6MG S6MLDSSLD 616315
SM_(h&.
38. @\ (b HLILIGVGHET HeumigGa T 6lams 55 60T @) (H LIS & mIGeflain &Ledev Lilieord Q&ulGH ermer.
@B SLILIVS 6fled(BH S &HevmiIgGen T allend: s SE 6T 2 FRUNGT M mEEC8s 6T MIG6T (LNeMGEU
30° LDMMILD 45° 9GS LD. VIS T leTd88 5 60T 2_WIFLD 200 LS 6T6vfl6v, @)1 &HLILIVEEHE G @enLCul
2 6T Q& TeM6EVEnI6US HIT6TITSH (V3 = 1.732)
39. 621] 2_(h6MenI6dT YLD LOMHMILD 2_WITTHIGET6T NESLD 5:7 S GLD. SIS 6IT UEMETLITLIL| 5500 &. Q& .LE 6T63Ml6D,
2_(Ih6m6muT6or 4D LOMMILD 2 _UIFLD ST6T018
40. 61 2_(HenenuNedt LG 6217 QML &&6ToIL LD Q)6m601TH S UMWY S6NLOHS 62(1h LI6sTEN6HT (funnel) QLTSS 2_LLIFLD
20 Q& 5. 2_(memenuNedt 2_wigLd 12 Q&L HMILD L LD 12 Q& L5 g,@GLD. 60L& &6 & 6T GLoHLIM eILL LD
24 Q& L5 6163760, LsoTe0l60T QeueMNILmLI LFLmLS SH6v01EHE (H'S
41, @ revor(h) LIGemL 56T 2 (L L LGS ermer . RemLSHHLaUMID &SI GNar  Folhs56v
(i) 4 -8G5 FLOIDTS (i) 10 -8 L) QUIflS TS (iii) 13 -85 L& GeMMeUTs @) (BLILISMETeor

Bl D556 &IT6E00T5.
2

42.3x% —4x +1 = 0 -WI6IT CLPELRIGSIT , B 6T60TI6V, % oML % CLOGLMRIGENTSS QS T6voTL @) (HLIG.&
FLOGITUMTL_6DIL_& SHTEH016
Part - D
Answer the two Questions. 2x8=16

3
43. 2) QBMTHSHSULLL (P&SCHTEILD PAR -5@ 255 LSS MRIGe6 6181810 < STE0 SIETLOWLOMDI (B [STIAAST])§:¥:)

3
(P SCHITEUTILD 6UEDITS. (S61T6Y] SHITIT6uTT =< 1) (OR)

b) QR =5 Q& .15, £P=30° toMuLH P-uSeGlipBS QR-&E eUeTUILILIL [ &&S5I%CHITL 1Q60T [BETLD 42 Q&F .1f

Gl&mevor.  APQR 6M60) [T
44.2)x% +x — 12 = 0 @)UBLIGEEFLD 6OTLIT(HFHETI60T B176)H6NTI60T &H60TEMID6MINLI 6UEM(TLIL LD ELOCVLD 4 [TITUI.
(OR)

b)y =x%+ 3x — 4 -UNeT UeMTLILLD QDT HSI, SISHemeorl LWeTLBSH x2+ 3x — 4 = 0 6T60Tm

FLOETUTL LG ST &Ha]LD.
ALL THE BEST
PREPARED BY: R.RAJESH M.Sc., B.Ed., PGDCA., BT Asst (MATHS),Brindhavan Hr

Sec School, Sukkiranpatti,Pattukkottai



